/SOLU

!*

ANTYPE,O0
/INPUT,'input','txt’,
/INPUT,'outputl’, txt',
!*

ISFILE,READ,1,txt, ,0
SOLVE

!
=1
fy=310e6
!
*DI|M,EleCenter, ARRAY,NumNode,3,1, , ,
*DIM,ElelS,ARRAY,NumNode, 1,1, , ,
*DO,l, 1, NumNode,1
!
*GET,EleCenter(l,1,1),ELEM,I,CENT,X
*GET,EleCenter(1,2,1),ELEM,I,CENT,Y
*GET,EleCenter(1,3,1),ELEM,I,CENT,Z
! X=1.0 105
*|F,EleCenter(1,1,1),GT,1,THEN
*|F,EleCenter(1,1,1),LT,1.05,THEN
*|F,EleCenter(1,2,1),GT,0.5,THEN
|
ElelS(1,1,1)=-20*fy*EleCenter(l,3,1)** 2+0.3*fy
*endif
*|F,EleCenter(1,2,1),LT,0.0,THEN
|
ElelS(1,1,1)=-20*fy*EleCenter(l,3,1)** 2+0.3*fy
*endif
!
*if EleCenter(l,2,1),GE,0.0,THEN
*|FELECENTER(I,2,1),LE,0.5,THEN
ElelS(1,1,1)=4.076*fy* (EleCenter(1,2,1)-0.5)**2
ElelS(1,1,1)=Elel(1,1,1)-0.719*fy
*|FElel(1,1,1),LT,-0.3*fy, THEN
ELelS(1,1,1)=-0.3*fy
*ENDIF



*ENDIF
*ENDIF
*ENDIF
*ENDIF
*ENDDO

|

*CFOPEN,'1','txt',""
*DO,1,1,3840
I*IFElel(1,1,1),ne,0.,then
*VWRITE,"!"

(A)

*VWRITE," Stress for element’, |
(AF)

*VWRITE,"!"

(A)

*VWRITE, 'eis,’\|

(AF)

P=ElelS(1,1,1)
*VWRITE,PR0.,0.,0.,0.,0.
(E.E.E.EEEE)

I*ENDIF

*ENDDO

*CFCLOS




